
Math 9             Review for Exam 2 – Rational expressions, radicals, rational exponents, geometry topics 

(04, 05, 06_08) 
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30 If one leg of a right triangle is 5, and the other is 12, what is  the length of the hypotenuse?  

 
31 Find the second leg of a right triangle with hypotenuse 7 and leg 3. 

 
32 Determine if 7,24,25 are the lengths of the sides of a right triangle. 

 
33 Find the area and perimeter of a rectangle with length 5 and width 3. 

 
34 Find the area of a triangle whose height is 4 and base is 7. 

 
35 Find the area and circumference of a circle with radius 4. 
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33 𝐴 = 15, 𝑃 = 16 34 14 35 𝐶 = 8𝜋, 𝐴 = 16𝜋   

 


